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BACHELOR'S DEGREE PROGRAMME 
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December, 2015 

ELECTIVE COURSE : POLITICAL SCIENCE 

EPS-07 : INTERNATIONAL RELATIONS 

Time : 3 hours 	 Maximum Marks : 100 

Note : 

(i) Section I — Answer any two questions. 

(ii) Section II — Answer any four questions. 

(iii) Section III — Answer any two parts of question 

no. 13. 

SECTION I 

Answer any two of the following questions in about 

500 words each. Each question carries 20 marks. 2x20=40 

1. Write an essay on Non-alignment. 

2. Examine the salient features of the state in the 

developing world. 
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3. Discuss the factors that led to the collapse of the 

Socialist bloc. 

4. What is ethno-nationalism ? What are the 

causes for ethno-national conflicts ? 
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SECTION II 

Answer any four of the following questions in about 
250 words each. Each question carries 12 marks. 4x12=48 

5. Describe the essential features of the neo-realist 
approach to international relations. 

6. Briefly describe the tangible and intangible 
elements of power. 

7. The nuclear arms race is different from all 
previous arms races. Comment. 

8. Analyse the impact of the First World War on 
international relations. 

9. What is sustainable human development ? 
Explain. 

10. Examine the major milestones in the 
development of human rights. 

11. Examine the rationale for disarmament in 
contemporary times. 

12. Write a short note on SAARC. 
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SECTION III 

13. Write short notes on any two of the following in 
about 100 words each. Each part carries 
6 marks. 2x6=12 

(a) Bolshevik Revolution 

(b) Imperialism 

(c) Bretton Woods System 

(d) Versailles treaty 
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